No.13 (1980)

HFMBE (F0I)

FPEBOMBETST—424OHABIZOWNT

B 7 - %~ 7 - =TT TIORSEL, AEFR - FPROFPTHMEL 28
AEERGEORE T — 2%, PROFP ountput table W@BbOILA, COHFEHE,
1980 THHEEIEIDLNAZA=66H61722TO889(74Vy<—b1D0K
BELTHAT) OBARERBEIT TR THhET 4, 0P 5 0 BEREERET, T8
Z100EECHL THERBBAEINTATS 821 KT 2EHRIEND, TLEROTK
TREOTHERIL ThI€A, LADF-T, BB AL X—0HEIN TWEOLH6 4 0 &
KEndz btitnibtd, F1RCoutput table ORNE%R, 2 -FE3Xontput O
EAERLE L, TOO LBREFL L (HAODLFETTH, RICAFEREINLFE, KT
— 2. 2y A—OBREM—IFE (Tel. 02928-2-5907 34 (15481)FAHALHETTIWN,

FAINSERET S input data(FBAR)CE,BOr PO 2 v ¥F—CEEL 0T
FNTWETOT, 71— FEEGH 25000 BECAY, RERBRIK T -7 774 v L TEM
énrmg?oinmn(Mtamomr%wﬁﬁmééﬁu,%ub§?—}-tv4—©m$
MR EEEbE TS, (PUEE=)

#£13% PROFP output table ORE

column title

1 NO, BHEO FS (HEHER, ALEEROF CTHRFETE)

2 NUCL. BHEL, BER( 74V ~—CRrMEENEHT )

3 HALF LIFE BHEOXE, F2TRT0ORE (BEEED LK
(SEC) 0.0)

4 DECAY CONST | HUEEHR, £27a+OBE (REEMLE 0.0 )
(1/SEC)

5 Q-BETA B~ HMETir¥—, B2IETOBRE(74Y<—0
(MBY) OBECE T OMB= 4 v ¥— & TOBE )




column title
6 Q-EC BEF RS+ v ¥—, B2 T ORE
7 EgﬁgiL B, 1, NBERETOFHT 2 v ¥—0OFM, F217
(MEV) BZORE (KBR7—218ENFE~1.00)
8 E-BETA BOFHzFvF¥— , B2THTOBRE (KR7— %
(MEV) BENWEE-1.00)
9 E-GAMMA rORHzF A ¥—, F2TELOBRE (KR — 2
(MEV) HRENEE-1.00)
10 E-IC+X ABERET (+XB) OFHzxr¥—, F217
(MEV) ZTOEE (ERF—25R2NWEE-1.00)
11 IE I1=0, QEAERLCESTNVE
I=1, QEXEHEME, BREIHSE
12 SG SG=0, PHEFHERERZL
SG=1, hEFHENE®RD b
(BERTXT0LLTSHS)
13 M.NUCL BeEL, HER
14 DTYP FEED O OBRRAIK
DTYP=0 %£%EE
DTYP=1 §
DTYP=2 IT
DTYP=3 (n,7)
pTye=4 g1 ,EcC
DTYP=5 a
DTYP=6 delayed neutron
15 BRANCHING B> COBRE~OBRBA BT ( 1 BEXL D)
16 ERROR OF BR S ELORE




pa— L 9 —_

NO.

501
302
503
504

505
506
307
508
503
510
511
512
513
514

516
517
518
519
520

NUCL .

coia?
iNL22M
INL22
SN122

sBi22mM
Sbl22
TEi22
AGL123
co123
INL123M
IN123
SN123M
SN123
S8123

TE123M
TEL12)
1 123
Chi2a
IH124M

IN124

HALE LiFE
(SEC;

5450CO0E+ L0
1.00C0CE~UL
1.00000GE+CL
5.00000E~CL
1,50000€+C0
3.00000E~C]
0.0

0.0

2,52000E+062
1.20000€+01
2,3328CE+05
8,64000E+02
0.0

0.0

3.90000FE=0x
3.00000E~u2
5.0000GE+u0
1.0000GE +00
4,78000E+0}
5.00000E-01
5.9T00CE+00Q
5¢00000E~0C2
2,40480E+03
4,20000E+00
1.11629E+07
3.45600E+us
0.0

0.0

1.03423e407
8,64000E+03
3.91066E+20
3.78432E+13
4.732008+04
3.60000L+0¢
9.00000E=-U1
2,00000E=01
2.,400U0E+00
3.00000€=01
3.21000E+00
6,000002-02

DECAY CONST
(1/5LC0)

1,26027e=-01
¢4¢29140E=03
6.93187€=-02
3.46574E-03
4,62098E-01
9,24196E-0¢
0.0

u.0

2.,75038€-03
1,30980E-04
2,97131E-06
1.10049E-08
0.0

0.0

1.777130E+400
1.36715e-01
1.38629€=-01
2,77259€-02
1,45010E~02
1.51684E-04
1.16105€~01
9.72404£=04
2,88235E-04
5.03404€-07
6,20939E=08
1.92241E-10
0.0

0.0

5,70220£-08
5.59¥17E=-11
1.77254€=21
1,71537€-22
1.45d64E-05
1,L95u3k«07
7.701e4E=01
1,71147€-01
2.88811E-01
3.61014E-02
2413934E=-01
4,03514k=03

W2% output data OF (1)

u~btTA
(¥MEv)

3.50%0
0.7000
«GBOC
0.0500
6,5100
02300
0.C
U.0

0.1632
©.0061
1.9809
€.0038
0.u

¢.0

7.0600
1.4000
5.5000
1.1400
C.3200
C.0100
4.3810
C.0409
0.0z47
0.0005
1.3970
0.0u40

VOO0 O o0
cooccN ol
Q&
C ~
-

£
<
=3
o

0.9400
0.1900
g.0300
7.1400
U.0900

v=EC
(MEV)

LoococCcuo
CLQCODO0L

2217
036

COoCCOoOO0N0CO0OLRCUOOLQEOO

920

[=]
~
-

000
000

COoOCCOCCrHoULOW DOCODOCOOLCOCRCOCDrHCLO

COOCOOrHNOCOC

E=TOTAL
(MEV)

1,531
0.3676
3.,e522
0.4372
3.99%5
0.4429
0.0

0.0

0.1632
0.0006
1.0179
0.037¢
U.0
0.0
-1.2000
0.0
=1.0000
J.0
c.0827
0.3548
2.4504
0.1061
J.6169
0.0457
0.5191
0.2019
0.0
G.0

J.2473
0,013
Ul

0.0

0,1467
0.0009
2.15%2:
0.5u84
4,5064
0,64566
4,1991
0.495%4

£=BETA
(MEV)

l.8406
C.3659
1,%137
O.8326
2.1374
C.4384
.0

611
034

C
]
0
0
[}]
0
0
0

Qoocvoc [=]

-1.0000
0.0

=-1.00n0
0.0
2,0036
0.3542
1,3537
0.0938
0.4563
0.0456
0.5122
0.0018

2.3328
0.3897

E~GAMMA
(Mev)

J.uEd4
0.0352
1.7349
0.00621
1.2%2
0,0027
2.0

0.0

V.us68
0.0008
U.4569
U.0375
Q.U
Q.0
=1.0000
U.0
~1.0C00
0.0
UsUbo4
V.0210
11w
U.0497
V.loue
0.0ule
U.006¢9
U.00u7
0.0
0.0

U.1336
0.0134
U.0

0.0

0.1467
U. U0y
U.l4u)
0.0430
2.2T¢8
V2250
1.60662
C.3u59

E=1C+X
(MEv)

2.0
g.C
G.0U36
J.0016
0.0
0.6
G.0
Q.0

Oslled
0.090%
0.6
0.0
0.0
0.0
=1,000uC
0.0
=1.0uu0C

IE SO M.NUCL DTYP BRANCHING ERROR OF BR

<

- © C© <

0
0
o
Q

[

[>]

AGl22
AGL23
Cbi22
IN122
Ini22M
se122
S81z2mM
sB122

AGLZD

izl

In123
IN123M
In123

5N123
SN1z3m
TE123
1123

Tela3m
1123

col2e

1

1

R A

&N

1

9.96000E=-01
4,00000E=-02
1.00000E+00
1.00000€+00
i,000008+00
2,%0000€=-02
1,00000E+00
%.76000E=01

9.60000£-01

1,00000E400

9.68000E-01
1,00000£+00
2.20000€E=02

1.,00000t+00
1.00009E+00
1.00000€+00
4.,00000€=05

1.00000E+00
9.99960E-01

1,30000E+00

2,00000€-03
2,00000E~02

0.0
0,0
0.0
6.00000€E~03
0.0

6,00000E~03
2,00000t=02
0.0

1,00000t=02
0.0
1.00000€=-02

D000E =05

00 Ccooo

0.
1,00000E=05
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NO,

521
522
523
524
525
526
527
528
529
530
531
$32

533
534
535
536
537
538
53¢y

540

NUCL .,

SN124
SH124n
Sb12eM
Spl2s
Tei2e
Ini25M
1n125
SN129M
SiN12%
sb125
TE125M

TEL25

to1as
At 125M
X£i25
CL126
1i126M
IN126

SN12e

Sblzem

HALE L tFL
(SEC)

0.0

0.0

1,212006+03
1,20000%+0
9.300u0E*C]
5000007 +u@
S.zullberut
1.728upb+02
Y]

.0

1.22¢00F+02
1,00000E=CY
2.32000E+0C
3,00000E=u2
5. T1200CE+ve
3.0000UE+QD
8.3289¢E05
2.592G08+u3
B.T35TE+ LT
1.26144E+06
S.ull2uk+ue
8,64000E+04
0.u

0.0

9.196i0k *06
9.50400£+03
2.70000E+0)
1.0C000E +0Q
6.12000E+0a
1.080U0R+03
S.0toutE=-C])
1.5G0600k=02
4.1000UCE 00
3.000L0E=01
1,53000E~00
1.00C00E=02
3.15300k+12
6.3GT20L+11

1.3a4000E+C3
l.sCunpt =0l

DeCay CUNSTH
[FYRINS]

—~ArG e

190648 =04
blslE-ilb
Lu53208~03
«.03709E =04
3326307
H.42140E=11
N.0
.0
5.68153Lk=-02
4.05100t~us
2.9877¢E-G1
3.5634 k=03
1.213%369E=C3
&6,37339E~-06
8.32213t=07
2.569B8E=-CY
7.93486L-09
1414563k-10
L.0b34UE-CT
243b8462E-C9
0.0
0.0

.0
0
.7
.6

1.33398E~07
2,43993E-10
l.2160C5k=08
2.13342¢6~Co
1+013229E-0d
199069k ~UY
1.369e6E+00
4, 060b4E =LY
3.30070k=02
“.T10evE=~Lye
4,953u37E-01
Z.96503t~.1
Z.1yiybt-13
4,390%ik=-16

b.LbUuE=(4
Y.e0L Bt =00

s=neTA
(V)

o.u

Q.0

0.0350
J.ull0
0.0107
J.0u01
2.90650
0.0ul19
o.v

0,0

D.i8CO
0.16u0
5.4800
0.0800
0.0275
G.0002
2.3500
0.0Ue0
G.Te6b
0.0020
Q.ise7
0.0000

0.3740
U.udoc

G.Ll77?
[ o)

¥3% output

w-k. L=TJlAL
; (MEV)

~
z
m

Q.0

U, 0

0.0259
0.0010
0,446l
J.0219
2.2388
0.0103
0.G

Q.0

2,500
0.4222
3.10c8
G.1319
1,142)
0.1187
1.1257
b.1569
V.5260
0.0023
0.1447
0.0001
0.c

0.0

S
Do~
[SX)

ODOoOO0ODoOCRCOOOCACOoOLIOCCRAOC

772 0.C354
HheG  0.0001
c.2018
9.0120
350 0.279¢
4GC L0052
2.05Q1
V4534
4,1259
C.o26d
4,9%40
0.57717
0. 2630
C.01C7

CCECNCCONCHOO0D COCRCOCORLCUaCCGCoOOOCOTC CL

COOOCOO0TDNIOOGC -

¢ 6310
0.0nb56

ceo
oo

E-PETA
(MEV)

0.00%3

C.6292
0,081

data Of
E=GAMMA La|Cer
(ML V) (MEV)
U.C 9.0
G.0 0.0
V.0000 0.0250
U.00u6 00,0010
0.3516 0.0107
0,0z03 9.0201
1.8%%8 0.0
0.0U589 U,0
(TR 0.0
[) G.0
Q.133e¢  (,0094
0.0344  (.0027
1.2934 4,0
U.0843 0,0
C.3469 0,0
v,000¢ 0,0
Ge3133 0.0
0.0179 0.0
0.4190 0.0230
0.0005 C,00cl
LeQU2T  U.le2l
G.00LL G.0LUL
C.0 0.0
[ ) 0.0
0,0026 00,0331
0.0001 0©0,0000
0.0984  0,1534
C.0 0.0120
Ge247t  0.USL2
0.0040  9,0031
0.0639 0.0
0,008 0.0
V.629T L0
C.142C 02,0
2.5297T 0.0
G.330% U,V
U 1306 L.UbEd
Go0LeT L, 0U4d
1,7995 U.0LLS
VL U80S GLODCe

2

It so
[V
1 v
1 0
[+ ]
[T Y
F )
U 0
v G
0 ¢
[ )
[TV
V]
o «
[N
g o
1 ¢
1 ¢
¢
¢ ¢
o 0

M,NuCL DTYP

IN124

iN12am
SBL24N
SB128N

St124
S8l124m

AtL25M

CDles

INlZ26
IN126M
iN127M
SN126

- o

-

£ oM

BRANCHING ERROR OF B8R

1.90000E+00
1.00000E+00

1.400Q0g+00
6.00000E-01

1.00000€+00
2,00000€~01

8.90000E-01
1,00000E+00
1.10000€E-01

1.00000E+00
1.00000€+00
2.18000E-01

1.82000E-01
1.,00000E+00
1,00000E+00
1,00000E+00

1,U00G00E+00

1,0400G0E+0U

1.G00QUE+OU
1,0U000E+0C
4,5GCGOE=-C3
1,00000E+00

[=X=}
L~R~1

0.0
4,00000€E-02

0.0
4,00000£-02

2,00000E-02
0.0

2.00000kE-02
0.
0,
2.00000E=02

0000k-02

CcCooCco QOO0

2

0,
0.
0.

crnoc

[¢]
0
00000t=03
[



—-69—

An example of input data
PRUBLEM 187

BAl37

56M GAMM CONV

L XY

0.255208+01 ™M 0.,20000L~0z
€S 137 %% (  BETA  0,94700L+02
0.66164E+03 0.,80000E~0)
1 0.10000£+01 0.0
0,6616350E+03  0,T6CO0V0E=01  0,8930000F+02
0.0 .
1 0.10000t+01 0.0
0,6616350E+03  ,7600000k=0)  0.1U7000VE +0¢
0.0 0.0
PRUBLEM 148
BA137 566 st
5 137 5% 6 META  0,53000£+01
BA 137 56 M IT 0.10000t+03
LA 137 87 & EC 0.10000E+03
PROBLEM 159
LAL3T 576 ECAP
0.60000E+05 Y  0,20000E+05
CE 137 88 M EC 0.78000E400
CE 137 56 6 EC 0.100008403
0.60000E+03  0.12000€+03 EST
1
0,0 0.0 0.10000C0E+03
0.0 0.0
PROBLEM 190
CE137 58M GAMM CUNV ECAP
0.34400E+02 H  0,30000€+00
0.,25429E+03 0.50000E-01
0412200E+04  0.20000E+02
11 0,44D0CE=03  0.20000E-04
0,1061000E+02 0.5000000E +00 0.0
0,1692600£+03  0,4000000E=01  0.,995000Ck+03
0,7623000€+403  0,1000000E+00  0.4350000£+03
0,80353800k+03  0,12000VUE+0U  0.23%V0U0E«L3
0,9174500E+03  0.170GV0GE«OD  0.290000UL«02
0,1004490E+04  ©,200000GE+CU  0.2100000k L2
0.0 0.0
1 0.10000k+01 0.0
0,2542900E+03  C,5000000E=03  0,8B833000k+0Z
. 0,0
s
0,7623000t¢03  0,3000000€+00  C.190GCOUE+OC
0.9174000£+403  (.30000UVE+QU  0.4000000E~0Z
9,0 c,0
PRUBLEM 191
CE137 58G GAMM CONV ECAP PCSB
0.90000E+01 H 0.3V000E +00
ct 137 s8 M Y 0.992208402
0,12200F¢04  0.20000t+02
20 0.22000£-02 0.10000e=03
0.1061000E+02  0,5000000t+00  C.U
0,2170300k+03  0,500C00UE=01  C.22000C0E+J1
0,4365900k403  (,9000000k~=01  0.1490000E+D3
0.4791200E+03  G,1000000E+0V  0.6TUGDOVE+DL
0,6930300E+02  (,1000000E+0U  L,59L0COUESIL
0.6313800E+03  C,6006000€=01  C.7500000k+J1
0,6987200E+03  ©,1100000t«00  0.1750000k+02
0.7244000E+03 U, 3000000£+00  0,4000000E+"C

0,7815700k+03

¢,130000GE0v

C.17L0CU0E+ )]

-]

input data Of)

rontrol
1 &
€— half-life and error
0.3000GE+00 &¢——- branching ratio from parent
TS E(IT)
0.50C00L0FE+01 €= V data

5,5000000E 00 ¢——— converslon data

3
0.30000QE+00
0.0
0.3
wkCa 2

0.1000UE+0C

c.0

————————— Q(EC)

0.0

WwECA ©

0.0

0.6000000E+02
0.2000000E+02
0.10C0000E 02
0.5000000€+01
0.6000000E+01

0.10U0000E+01

oc
oo

GECA 1
0,10000€+00

0.0

0,3000000E+0C
0.5000000E+01
0.3000000E+00
03000000t +00
0.4000000E+0C
0. 9V0LOOVE+VO
0.200000CE+00C
(42000000 +0C

energy of vy

0.87200008+0U2
U.2542900k+03
V. 8248200403
0,9068400t+0.3
0.9938100t+03

0.8353000E+03
Ga1GussDUE+Ue

U.l4883000Le03
U.6332200E403
(G AP E-1i VIV
U, 4h24T0ULSU3
G,5z9300uEeLs
C.67r2600e0
0, fusT2uut +us
0, 770900 +u3
G.91%8000Le 3

0,2000000E+00
0.5000000L=01
0,12000008+0U
v.1600000k+0U
C.21UUD0U0E VY

04 300000UE 0L
03000000k * 0y

UL BLUOLNOUE -G
UoyuLleouE-dl
G 8ULUBOLE=UL
U, 1J0000UE + UL
U 20LU00UE T VU
0. 1200000k <0y
U.1100000E+0y
.1000L00LE+UL
vedIUUGOLL U

intensity of

v, 2000000L+02
U.2480000L+0%
U.10L000UE +0s
UL 635000uE +01
UL 45GU0UUE+0L

U,3000000t+01
0,90600U0L+03
0.0

0.1100000E+01
U, 6000000L+0U

electron capture data

Ue90UUCOVE=VL
U.490000VE+00

3.500u000E+0Y
Le2493000uE 02
U l0UULOUE +0%
UL 2570000E~02
U 200U000CE+LO
L. %00u0luE+00
v bULUO0UE YUY
0e34L000VEOL
UL PRUUOUE 402

U.0
0.0

U.2000000t +00
U. 15000008 +01
0.0

0.90000V0E +0U
0,1000000L+00
0,2600000t+00
0.1000000k+CU
0. 2000000 +0V
0,100000UL+01





